1
N
T“h Pt(l'rroc.\

Q'\O‘ Mqh
Rkpornaat pos, i

Wrik +lx \L(/ow'u\? us'u\a @_s.___L'LME

'QxPoNM' S on Ij .

_(00_\4\3 i _5(0,0:":_
S

*g 1-\,‘“‘ =S
XU ¥ ot

I

= Ixfact



How about NEGATIVE RATIONAL exponents?

G-
=( 3

T 27

Evaluate the following:
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Check your understanding:
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m Applying Negative Exponents &D-‘-‘M

Paleontologists use measurements from fossilized dinosaur S -j--¢------- -
5 7 0.25 m[ w

tracks and the formula v = 0.1555°f © to estimate the speed
at which the dinosaur travelled. In the formula, v is the speed

in metres per second, s is the distance between successive =~ - 1.00m
footprints of the same foot, and fis the foot length in metres. w
Use the measurements in the diagram to estimate the speed
of the dinosaur. S= ' M [ i
SOLUTION ;
5 7
Use the formula: v = 0.155s°f ¢ 4
Substitute: s = 1 and f = 0.25 w lf
5 7
v=10.155(1) (0.25) © @.155(8.25)* (-7~6)
I 0.7181151051
v=0.155(0.25) °

v=0.7811...
The dinosaur travelled at approximately 0.8 m/s.

©

4.5 Negative Exponents and Reciprocals



Now for the grand finalell

Evaluate the followmg

—2% 4 [l] — 647 + 450+ (-3 )+2—_2
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Practice Problems...

Page 233 - 234
#6, 7, 8,9, 11,12, 13, 14, 16, 17



	Page 1: Sep 18-12:40 PM
	Page 2: Sep 13-11:05 PM
	Page 3: Jan 30-11:58 PM
	Page 4: Example 3 Solution
	Page 5: Sep 15-12:10 AM
	Page 6: Sep 18-1:29 PM
	Page 7: Sep 13-11:43 PM

